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215 SHA =S 4234 ZAE : 2/kg 4396 H|SALZE /kg
1,080 A=/ 353 HAIALZE} 373 E0tAIR/kg
7,500,000 HOoIAH|(+3F) 4,500,000 3 E9/MH| 32 800
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YWRESITS 3| %1 | 30 33 %7
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HARA kgd 2,520, A&kgd 367022
T 32,8009(AA kgTd +3009, A&kgd
+4309)°] 715t ABH A 271E kgd A
7} 3,250 (A2 AL 68.5%)F ZoH3hE A
9| F=lerh= Tk 31 80099 HRIE E A

A

o] AR A HErS AU MSY 1472
H, £ 38,7009 HAE Hof AlEf= B
Azt webA 7o) A9 ol mE |
8 A5 27ME5e0l T AR HlEo &
o= 1% 732, 9= A3 HREL2 79

J
[¢]

2008 - 3 - HUAE 143

r
0
f



I

<im

4~59Hef @8 Ao}, wheha] &9lE7] MSY
£ 52 2050 o5 Ho|X|gk MSY 18%F o4<]
=t Hl%-OI 5% BEQ)0 Exgt FAS T
o, FEFAATLe] 20089 % AL oA
HSE £ 259 9lo] 20079 % 54,000
H] 24~48% 2 28,0009~41,0009) o) L&

<H 2> 2008Hk =¥ 2EY TH(EAH

T o= A2 I 7 JHE 2 =),

3. Bt= YELAO| MTIDLS YOt HI

9] FEY] WYL 2 1), E7} 3fels]o] 2o
B Shb|RE 20% o4 BHES 358

: X127 W3,250/kg, HeHX|&& 68.5%)

i B =2

200 BEMAG 22 o8 MEY| “ BoHS
215 EHAZES 4710 ZAIE : f/kg 4920 HISALE /kg
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7,500,000 2oIAAH|(+F) 4,500,000 2 Z9AH| 32 800
1,200,000 || += 1,800,000 7|EK + () AAI7|7L(2)
M/S/Y 140 ‘ 160 180
YLREHNTES m % W 33 367
1) SChALEH| 183,000 175,000 167,000 159,000 s 0
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S5l (5R) 190 185 180 175 170
HIS2ke/5F 310 300 289 ‘ 275 263
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M kg" 2,580 20 | 2280 | 210 | 200
XIS ket | am | 3,550 330 | 3110 2.920
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